Activating Prior Knowledge

o~

Area of Two-Dimensional Shapes

To calculate the area of this triangle,
use the formula Area = 1 X base X height
or A= 1bh.

Substitute b= 7.8 and h = 1.8.
A=rbhr=2(78X1.8) = 7.0

The area is about 7 cm’, to the nearest square centimetre.

7.8 cm

The area is m?.

bh
b) A=+

The area is

2. Calculate the area of each triangle.

a)I

3.5cm

5.6 cm

A= e

To calculate the area of a circle with diameter 14 cm, use the
formula Area = 7 X radius® or A = 7 The diameter of the circle
is 14 cm, so the radius is 7 cm.

Substitute r = 7 cm.
A== X 7= 153.938

The area is about 154 cm?, to the nearest square centimetre.
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@ Check

3. Calculate the area of each circle, to the nearest square unit.

a) diameter =24 cm

A=mrt= The area of the circle is , to the nearest square

b) radius =9 m

A=mr= The area of the circle is , to the nearest square
¢) diameter =11 mm  The area of the circle is , to the nearest square
d) radius = 8 km The area of the circle is , to the nearest square

Circumference of a Circle

To calculate the circumference of a circle with diameter 4.8 cm, use the formula
Circumference = pi X diameter, or C = 7d.

Substitute d = 4.8.
C=mXd=mX 4.8 = 15.080

The circumference of the circle is about 15.1 cm, to one decimal place.

To calculate the circamference of a circle with radius 5.2 cm, use the formula
Circumference = 2 X pi X radius or C= 2.

Substitute r = 5.2.
C=2XaXr=2Xaw1X52=32673

The circumference of the circle is about 32.7 cm, to one decimal place.

@ Check

4. Calculate the circumference of each circle, to one decimal place.

a) d=12cm C=g X d=xmX ==
The circumference of the circle is , to one decimal place.
b) r=8m C=2 X mXr=2.X mX ==
The circumference of the circle is , to one decimal place.
¢) d=5.6mm The circumference of the circle is , to one decimal place.
d) r=3.8m The circumference of the circle is , to one decimal place.
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Activating Prior Knowledge

Area of Two-Dimensional Shapes

To calculate the area of this triangle,
use the formulalArea = 1 X base X heigli]
or A= 2bh,

Substitute b= 7.8 and h = 1.8. ' 7.8cm

A="bh= (7.8 X 1.8) = 7.0

The area is about 7 cm?, to the nearest square centimetre.

2 i
ga==2l. -
The area is 2 éz

g b A=t = é-é) cm x (3.Y) em l'?.ﬁ 17
Lg 2 55 = a2y 5.6 cm
The area is 7-52 em 2—)

2, Calculate the area of each triangle.

—— 64cm ——>

= écq h= 2.5 b= g-(P U L= ('/.2') ldaa!
4= HZon> A= 18-08 ms

To calculate the area of a circle with diameter 14 cm, use the
formuly Area = 7 X radius’ or A = 777°.)The diameter of the circle g St

is 14 cm, 5o the radius is 7 cm. " n
)4"26.6( ) onN ' Form, '
- Substitute r=7 cn?. AP o zsceal;/gs&l;iy on {
A=7rF=7 X 7= 153.938 gi’

The area is about 154 cm?, to the nearest square centimetre.
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3. Calculate the area of each circle, to the nearest square unit.

a) diameter = 24 cm

= Ly = V52.38 ern® Y52 cm
A=mr= 7T (J2) " The area of the circle is SESY , to the nearest square S
b) radius=9m

2 .
A=ar =7 (7)~ The area of the circle is 25Y. 7, to the nearest square 255 >
2

o ) diameter =11 mm  The area of the circle is /727 , to the nearest square /3 277
d) radius = 8 km The area of the circle is £5./3, to the nearest square O

Circumference of a Circle

To calculate the circumference of a circle with diameter 4.8 cm, use the formula
Circumference = pi X diameter, or C = 7rd.

Substitute d = 4.8.
C=mXd=gX48=150%0

The circumference of the circle is about 15.1 cm, to one decimal place.

To calculate the circumference of a circle with radius 5.2 cm, use the formula
Circumference = 2 X pi X radius or C= 27rr.

Substitute r = 5.2.
C=2 XX r=2) X mX52=32,673

The circumference of the circle is about 32.7 cm, to one decimal place.

@ Check

4. Calculate the circumference of each circle, to one decimal place.
a) d=12cm C=mXd=nX_ld em = 3169 em
frcumference of the circle is _ 3%~ , to one decimal place.

equel ]
b) r=8m i CuaxX pXe=ddax B o = 5826

The circumference of the circle is_50- 2 7, t0 one decimal place.

¢) d=5.6mm The circumference of the circle is /3.6 mm , to one decimal place.
d) »=3.8m The circumference of the circle is_& 3. v /7)_, to one decimal place.
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